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Question Number : 1 Question Id : 70819118214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason K.

Assertion A : The escape velocities of p[anet A and B are same. But A and B are of unc-qua[

mass.

Reason R : The product of their mass and radius must be same. M;R; = M;R,

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

70819159791, Both A and R are correct and R is the correct explanation of A

70819159792, Both A and R are correct but R is NOT the correct r_-xplanation of A

70819159793. A is correct but R is not correct

70819159794,

A is not correct but R is correct

Question Number : 1 Question Id : 70819118214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
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OO MENZ] [ MIMOCUMBD EiBOS)BTIISIENE : 0T @OCLSIDAUIR A af)iM o BENE BIBEMo
R agymjo @oswognalsisflaidlanim).
@OOUSIDAUIB0 A : 06N (DaOMBUD A, B agmil@)es aleem wenInsmsod amoen.
ag)Modd A -wjo B -@jo ayj@)mim moqy aR0Ios.
#o06mo R : @AIWOS @Y, @R agmiluwies ngmmanso 8
oamoddansmo.
MR, = MR,
6a@lajOemm (MmIMSaIes el gjomd, moevesnisiemdlenimaaiad oflmy
apRle 9210n0D HEMBC HBOOETNS B :

Options :

70819159791 A, R agilcu wedloosm, R, A @es wdlwow allvdlanemaosm.

70819159792. A, R agymilcu codlaosm R , A @es wodl@ow allkedeoemo @rg).

20819159793, A ;dlwoem aleds R mm’lm@.

20819159794, N AR alods R codl@oem.

Question Number : 2 Question Id : 70819118215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :

List - 1 List - 11
(a) h (Planck’s constant) (i) [MLT1]
(b) E (kinetic energy) (i) [MLZT™ ]
(c) V (electric potential) (i) [ML2T-2
(d) P (linear momentum) (ivy ML21-1T-9

Choose the correct answer from the options given below :
Options:

70819159795, (@) — (), (b) — (ii), (¢) — (iv), (d) — (iii)

70819159796, (@ — (i), (b) = (iv), (c) — (ii), (d) — (1) gcollegeduma



20819159797, (@ — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819159798, (@) — (iii), (b) — (ii), (c) — (iv), (d) — (i)

Question Number : 2 Question Id : 70819118215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

allqy - 1, eflgy - 11 @0 ¢.alimjoalsS] @.albdee) ..

eflay - 1 eflay - 11
(a) h (gJom cudlmomo) H MLT-1]
b) E (naflesodezo) (i) [ML2T-1]
() V (eelsiSks: enalogiau)@d) (iii) [ML2T-2
(d) P (conlw aodeo) (iv) [ML21-1T-3

®06¥ OBos)mvtlenimnaueiad ol rdwow sEmoe HMOETMS)HE) jdb:.
Options :
70819159795, (@) — (i), (b) — (ii), (c) — (iv), (d) — (iii)

20819159796, (@ — (iil), (b) — (iv), (c) — (ii), (d) — (i)

20819159797, (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819159798, (@) —= (i), (b) — (ii), (c) — (iv), (d) — (i)

Question Number : 3 Question Id : 70819118216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the time period of a two meter long simple pendulum is 25, the acceleration due to gra

at the place where pendulum is executing S.H.M. is : collegedunias_

India’s largest Student Review Platform
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- a
70819159799, 16 m/s”

70819159800, T ms ?

70819159801, 9-8 ms™ =

2 2
70819159802, 2T mS

Question Number : 3 Question Id : 70819118216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oe algd mlanies B} mogealmdweemien epudEmM®ILe 2 s @EEME: @,
Daladabglo MASO0DER0EIE 2lBIMo MSEMIM MOSIOGM @|e6Mo AT :

Options :

- o)
70819159799, 16 m/s

70819159800, T ms ™ ?

70819159801, 78 ms~ <

7 ]
70819159802, 27 ms <

Question Number : 4 Question Id : 70819118217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A student is performing the experiment of resonance column. The diameter of the column
tube is 6 cm. The frequency of the tuning fork is 504 Hz. Speed of the sound at the given
temperature is 336 m/s. The zero of the metre scale coincides with the top end of the reson:

(_:o[umn tube. The reading of the water level in the column when the first resonance oc coll egedunias_

15 . India’s largest Student Review Platform



Options :

70819159803, L 0-6 €™

70819159804, 184 cm

70819159805, 148 cm

70819159806, 15 €M

Question Number : 4 Question Id : 70819118217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e} allapdmd @mimos &ead aldlesemo msam@o. 9 divellamd aomo 6 cm
apem. syerles’ canddaslom @aayedl 504 Hz @pen. momldanim moalmilaiaic
wendamdlen eaunm 336 m/s apem. dlnd miadalelom alj@e @mMe dieeladd
midd BoA@E] mumomae ofl@anim). EaRIOEM @MMIBe Moralleemioi
amysellelgs zeirfloaflod @anl ag@ eodldanio ?

Options :

70819159803, -0 €™

70819159804, 184 cm

70819159805, 1+8 cm

70819159806, 1 €M

Question Number : 5 Question Id : 70819118218 Question Type: MCQ = =~ =~ ™ T s

Question Mandatory : No QCOllegEduniaé
Correct Marks : 4 Wrong Marks : 1 o e



In an octagon ABCDEFGH of equal side, what is the sum of

e T S
AB +AC + AD + AE + AF + AG + AH,

. — s A M
if, AO=2i+3 -4k

A B
H &
G D
F E
Options :
70819159807, 101124 j+32k
_ A ~ e
70819159808, — 16124 j+32k

M A A
70819159809, 16124 j+32k

; A My Al
70819159810, 101 +247-32Kk

Question Number : 5 Question Id : 70819118218 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

— A M M
®je)) cwanrales ABCDEFGH ag}rm @adseHoemOml@d AO=2i+3j-4k agm’

T T S o T &
(d@lnfliwome e.alwiEdlen)minoued, AB t AC+AD + AE + AF + AG + AH o)™ @)d»

ag) o dlaaio ?

F E gcollegeduniaé

Options :



70819150807, 107124432k

70819159808, — 16124 j+32k

70819159809, 161 24 j+32k

- O -
70819159810, 1071 +247-32k

Question Number : 6 Question Id : 70819118219 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B of masses 200 kg and 400 kg are rc-volvmg round the earth at height
of 600 km and 1600 km respectively.

If T_ﬁi and TB are the time periods of Aand B respectivel}-' then the value of TE_—Trgk :

[ Given : radius of earth=6400 km, mass of earth=6x 10* kg |
Options :

3
70819159811, 1:33x 107 s

; 3
70819159812, +24x107 s

Wi
70819159813, +:24x 10" s

70819159814, 3-33%10% s Q collegedunia:



Question Number : 6 Question Id : 70819118219 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@090 200 kg, 400 kg ag)ml @oquieR A, B agml galiansmsid 6)dlaiss aljgio
@Lnodhao 600 km, 1600 km pwesBdl@ sosmElosnoemldlenmy A, B agmiuwes
epUdeDHME&ee @D T,, Ty agmici@oeemesld, T,-T, =

[ ;s @ro=6400 km, galwies @q=6x10% kg agmiu mavidanim. |
Options :

3
70819159811, 1-33x 107 s

y ; 3
70819159812, +24x107 s

o
70819159813, +:24x10° s

2
70819159814, >-33 %107 s

Question Number : 7 Question Id : 70819118220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
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A5 V battery is connected across the points X and Y. Assume D; and D, to be normal silicon
diodes. Find the current supplied by the battery if the +ve terminal of the battery is connected
to point X.

Dy 100
[:.:{ AN
D
% 50
A 4'4"L",
X Y
Options :
70819159815, ~ U2 A
70819159816, ~ U043 A
70819159817, ~ 086 A
70819159818, ~ 12 A

Question Number : 7 Question Id : 70819118220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

enflosyend® X, Y agilauicias) diojeds 80y5 V eniogd ceidlall afidlseymy. Dy, D, agilal
owonem mileflansnd ane@onidhid @eemaT @mmonilanis. snopdlwes eomidial
@eino X snllmjaleod eaislaflofidlanimpaisla, smiogd madsim eengy® niawado
OO .

g 100
1] Wiy
D
- 50)
I~ vy
% Y Qcollegeduniag




Options :

70819159815, 02 A
70819159816, ~ V43 A
70819159817, ~ 086 A
70819159818, ~ 12 A

Question Number : 8 Question Id : 70819118221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : A speech signal of 2 kHz is used to modulate a carrier signal of 1 MHz. The
bandwidth requirement for the signal is 4 kHz.

Statement 1I : The side band frequencies are 1002 kHz and 998 kHz.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819159819. Both Statement I and Statement 11 are true

70819159820. Both Statement I and Statement 11 are false

70819159821 Statement 1 is true but Statement 1l is false

70819159822, Statement | is false but Statement 1l is true

Question Number : 8 Question Id : 70819118221 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qio!lesgdecju':'fa



69 MENE (IMIMOCLMEBGD B0 S)aYdlldlan)m) :

(aimocum 1: 2kHz 988 66} ceenia miunad 1 MHz 988 aegon) milunellem eaoawjealr
601900 ealewouilafldeaymy. milvneallmoniwymom suomay afle
4 kHz @mem.

(ai@acum 11 : eea’ sniomdal’ @paljondlech 1002 kHz, 998 kHz agomiai@oe.

a0 (lmmomagns aaslalonld, minvesnosjemidanimalaiad oo
AR HEMOO OMOOETINS)EE !

Options :

70819150819, @TI®IAUM I 9o (aimimocum LI go vadl@osm

70819150820, ENEE0KD T Mo [HAMHEIOND TE go exdpoe

70819159821 o mimocum 1 vedloem aleddH (almimocum 11 6 mRIEM

ladmimocum I &mE0eM aldy (almimocum 11 vodlaoermy
70819159822.

Question Number : 9 Question Id : 70819118222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two slatements : one is labelled as Assertion A and the other is labelled as
Reason K.

Assertion A : When a rod lying freely is heated, no thermal stress is developed in it.
Reason R : On heating, the length of the rod increases.

In the light of the above statements, choose the correct answer from the options given below :
Options :

70819159823, Both Aand R are true and R is the correct explanation of A

70819159824. Both A and R are true but R is NOT the correct explanation of A

70819159825, A is true but R is false

.
gcollegedunlaé
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70819159826. A is false but R is true

Question Number : 9 Question Id : 70819118222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

MIOY MENE) (IMI®IUMdLGD S MilgIME. 80mM) BEAISIAIIBe A o)l OETE
&dmeMo R gy mswogen simfl@idlsnimy

@OCUSIDUBe A 1 MY@DROW dlSaT B} Aemu 2lsodsi@om, epalled @oemon)
®0al MBS0 HMBIAHWIL.

alldlaeamo R:  aljsodniembod, esmilam mige audalleai.

cadda 0 (mmAMsaies edlajemld mevadsnisimmidenmaaiad mlmjo

Nl SFMEo HBONETMSIHEd

Options :

70819159823 A, R agmilou cadlaoem), R, A @jes vdlwow allvedlaoemaosm.

A, R agmilcu cedl@oem aledy R, A @es tdl@ow alltedleoemag).
70819159824,

70819159825, A VOI@OEM alsat R GOHG0EM.

A ©®QO6M aleey R cadlaoenm.
70819159826.

Question Number : 10 Question Id : 70819118223 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
gcollegedunlaé
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The current (i) at time t=0 and t= = respectively for the given circuit is :

5101 511
Al
— E
110 410
=TI PLLE
L
Options :
18E 5E
70819150827 2° 18
5E 18E

70819159828, 18~ 55

106 SE

70819159829, °o 18

'5E 10E

70819159830, 18 33

Question Number : 10 Question Id : 70819118223 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

omldleaim mdaygld, t=0, t=x agom mawasgengs Heasu® alaado (i)
b OB )cb.

.
L Qcollegedunlag
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Options :



18E SE

70819159827, 2 18

5E 18E
70819159828, 18 55

106 5
70819159829, - 18

SE 10E
70819159830, 18 33

Question Number : 11 Question Id : 70819118224 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pitch of the screw gauge is 1 mm and there are 100 divisions on the circular scale. When
nothing is put in between the jaws, the zero of the circular scale lies 8 divisions below the
reference line. When a wire is placed between the jaws, the first linear scale division is clearly

visible while 72"¢ division on circular scale coincides with the reference line. The radius of
the wire is

Options :
70819159831, 1-64 mm
70819159832, 0-90 mm

70819159833, U-82 mm

70819159834, 180 mm

Question Number : 11 Question Id : 70819118224 Question Type : MC!
Is Question Mandatory : No collegedunias
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Correct Marks : 4 Wrong Marks : 1

8n) M) cndlom allal 1 mm -go yEmId)® Masleld sag allallaymisd
100 -90 @@em. @e@lo) algliddssisal@d smio AUXEImMEjoR mdseeld
minswlelan el malseoa@ies 8 alallamad moaswosm. alg)didedisold
8] smll cenjemod, coallo masalelofd masieom wlalaud oysmnoe]
HemiMaflomoalo ljEmIS)® Mokl 72 alaflamibd mials eoalw@oul
ealbomy ofldtanim). emiwes @ro ag)m ?

Options :

70819159831, 1-64 mm

70819159832, 0-90 mm

70819159833, U-82 mm

70819150834, 180 mm

Question Number : 12 Question Id : 70819118225 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ana particle and a proton are accelerated from rest by a potential difference of 200 V. After

A

L : ; : S
this, their de Broglie wavelengths are A, and A, respectively. The ratio - is :
o

Options:

70819159835, 2.8

70819159836.

70819159837, /-8

70819159838, - '
gcollegedunlaé



Question Number : 12 Question Id : 70819118225 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

B0} a dbeMajo &0} elaloegiemye tflvarialmoeiad mlom 200 V ealogmawed aljmomo

OHOEE ®06Mo  OolO@Rleo)m). DEIMCato, RIS OB I
.RP

®onneeateamath @inhae A, A, agmiai@osm. @mialomo N, 9w ?

Options :

70819159835, 2.8

70819159836.

=]
= &

70819159837.

70819159838, -8

Question Number : 13 Question Id : 70819118226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two coherent light sources having intensity in the ratio 2x produce an interference pattern.

Max Imjn

The ratio will be :

max | min

Options :

70819159839.

70819159840.

.
Qcollegedunlag
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Jx
70819159841, **+1

IZJE
70819159842, * 11

Question Number : 13 Question Id : 70819118226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WUDBEOS @OMIaII®o 2t OB DENE kNN (aldhvd MOoUETBUD 60} ehbanommy

M jaiSlkeajomy. EMalomo Tmax “Tmin af)Mmowidlano ?

max ' min

Options :

70819159839, 2*¥+1

70819159840, 2*11

Jx
70819159841, **+1

.ZJE
70819159842, *+1

Question Number : 14 Question Id : 70819118227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

u and the last compartment with velocity v . The velocity with which middle point of

An engine of a train, moving with uniform acceleration, passes the signal-post with velc
Qcollegedunlag
trﬂj—n passes &]D Signﬂl post ]:.S . India’s largest Student Review Platform



Options :

u+o

70819159843.

00—

70819159844, 2

lIJE | I'll'2

70819159845, | 2

2
|z:'2 u-

70819159846.v 2

Question Number : 14 Question Id : 70819118227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mameemenmoas meidlanm e} asdlded ageald, ae) miknd euogiomn u
ERENEATNSW0, @O @RAIMOIMEHD MBSO v APEAINEAONSWIo &HSMN)
alddb)m) fselnfla awieane g Mm@ ealogiam &SmmiGalddsM (alEalto

]

@em
Options :
u+v

70819159843.

0=

70819159844, 2

IIJE | I'll'E

70819159845, | 2

I

(= —u*
rog19155846. | P collegedunia



Question Number : 15 Question Id : 70819118228 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A proton, a deuteron and an a particle are moving with same momentum in a uniform
magnetic field. The ratio of magnetic forces acting on them is _ and their speed is
, in the ratio.

Options :
70819159847. 4:2:1and 2:1:1
70819159848, 2:1:land4:2:1

2

70819159849, 1:2:4and 1:1:

S g
70819159850, -2 4and 2:1:1

Question Number : 15 Question Id : 70819118228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} 6010650 AYASE0M, a dhéMo )Ml BEH EDHCEMONS B0} VDI
pemueldlales memlanym). mmldlenim (@Gamsla el waubdoslenim
HONTds ENIRIETBRINS @MIldmo Ho @RCUWIAS CAUNMEHINS @M lnloMo
8o @em.

Options:

e
I
3
—_
—_

70819159847, *:<:18&°

-2
fa
[

- £ | . S
70819159848. 2

=i
-2
-2

70819159849, |2t @e Ll ,
collegedunia:



70819150850, 1 2:4802:1:1

Question Number : 16 Question Id : 70819118229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Magnetic fields at two points on the axis of a circular coil at a distance of 0.05 m and 0.2 m
from the centre are in the ratio 8 : 1. The radius of coil is

Options :

70819159851, 01 M

70819159852, V-1 m

70819159853, U-2 m

70819159854, 10 m

Question Number : 16 Question Id : 70819118229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

80} aljmnodejes el masntd, amalon emmaiad almjo 0.05m,0.2m
mdelamalales omd elmieoslales Honmle oemuelsmd 8 ¢ 1 agm
@M lom@dleem. 0 emdlelad eaomoen

Options :

70819159857, -1 M

70819159852, V1o m

70819159853, U-2 m
Qcollegeduniag



70819159854, 10 m

Question Number : 17 Question Id : 70819118230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular frequency of alternating current in a L-C-R circuit is 100 rad/s. The components
connected are shown in the figure. Find the value of inductance of the coil and capacity of
condenser.

R=6011
NN
15V
r: l,
E—1DY R=s0d Lg20V
o1
Options :
70819159855. 1.33 H and 250 pF
70819159856. 1.33 H and 150 pF
70819159857. 0.8 H and 150 pF
F j -
70819159858, -8 H and 250 uF

Question Number : 17 Question Id : 70819118230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
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80} L-C-R mdaygieal p@paudosl wind eans)@leies edhiemi@ @y
100 rad/s @oem. omlosl caisaamid all@omla soemlaflelen,mae calooa

apiglafl afldlanym). eaonfelad odwasdalo, dmemmdlan dajomigmae
OO db.

R=600
—— AW
15V
c==1y K008 &gy
s 0
Options :
70819150855, >0 H @0 250 uF 9o

70819159856, 1+ H £0 150 uF go

70819150857, -8 H 20150 uF 9o

70819159858, -8 H @0 250 uk 9o

Question Number : 18 Question Id : 70819118231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i — . _
A diatomic gas, having Cp =§R and Cy ZER' is heated at constant pressure. The ratio

dU:dQ:dW:
Options :
70819159859, 2:7:2

70819159860 ¢ 2

gcollegeduniaé
3:5:2 India’s largest Student Review Platform
70819159861. -



70819159862, 2:7 3

Question Number : 18 Question Id : 70819118231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e B

Cp =%Rr Cv=7Ragymiou pag ee) qavegodie: omdo qudeadgomid aysodnm)
dU: dQ: dW agm @omlalo®o ___ @DeEm.

Options :

]

70819159859, 2: 7 :

e |
I

3
70819159860.

3z h-

=]

70819159861.

C
T

70819159862, 2 : 7

Question Number : 19 Question Id : 70819118232 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two radioactive substances X and Y originally have N, and N, nuclei respectively. Half life
of X'is half of the half life of Y. After three half lives of Y, number of nuclei of both are equal.

The ratio & will be equal to :
Na

Options :

r—*|=,.-J.

70819159863.

.
Qcollegedunlaé
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70819159864.



70819159865.

70819159866. 8

Question Number : 19 Question Id : 70819118232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X, Y ag)md oeng coallewo @adslal amim)deidas @uodidmo N;, N, ag)mmil myghloaq s
£6m. X o) @pdwow)qy Y-w)es eedwoiqien alsjlwoet. Y-wjes am) aedwowiq)

adflwiemioid cedoaimlo Myl ®e)moe. @emjeiomo % af)mm ag)® ?
2

Options:

r—*|=,,-.?.

70819159863.

Alr—r'

70819159864. -

70819159865.

70819159866, 8

Question Number : 20 Question Id : 70819118233 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
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A solid sphere of radius R gravitationa]l}f attracts a pa:ticle placed at 3R from its centre with

I
a force F;. Now a spherical cavity of radius [;J is made in the sphere (as shown in figure)

and the force becomes Fz- The value of F.! : F;1 is :

Options:

70819159867, *1 120

70819159868, 20 * 41

70819159869, 0 : 22

70819159870, = * 0

Question Number : 20 Question Id : 70819118233 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R @pooies 8} alesnige avdlem emmanfa mlm’ 3R ereeal alaflges &)
&MHO0 F; oM 8] nje)m) eueermins eoddadlanym). ol omla

(R
06 2]l Al ma caloerl {;j ERO0EE CIRISTIURIER B0) MBI @O

aoalad mujatslaniemiod enielo F, @y, F, : F, agmmaflem allewosn :

.
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Options :

70819159867, L 120

70819159868, 0 * 41

70819159869, 20 : 25

70819159870, = 0

Physics Section B
Section Id : 708191755
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911035
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819118234 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A monoatomic gas of mass 4.0 u is kept in an insulated container. Container is moving with
velocity 30 m/s. If container is suddenly stopped then change in temperature of the gas

X
R=v¢as constant) is —=. Value of x is : .
R=g )i 3R T Q collegedunias

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819118234 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4.0 u 20Q 988 B} aR®ICRIHH UM &) MR el alafdlenim)

alo(®@o 30 m/s @peINEWIEd alelaen)MinE. ald(®o ealOgm mlvaelao@odd
4 u

oo oad moairewid panodym aljeleome 3= R =aoodmdoto) @er. 60

alla_  @pem.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819118235 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

512 identical drops of mercury are charged to a potential of 2 V each. The drops are joined to
form a single drop. The potential of this drop is _ V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText Qio!lgesgdecjuﬂli



Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819118235 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ons9dlees 512 maom mjedlens aevomioneio 2 V anog@aydd aen alde
ool0@ldlaen)m). o0 mesletd emeadmi so medwod asdlomon] eeemeorml.
00 ®e8l)es alogiay@® @em V.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819118236 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A coil of inductance 2 H having negligible resistance is connected to a source of supply
whose voltage is given by V=3t volt. (where t is in second). If the voltage is applied when
t=0, then the energy stored in the coil after4sis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819118236 Question Type : SA Qcollegeduniag

Correct Marks : 4 Wrong Marks : 0



2 H snabawassdmlo @pcimenilandn)m alenownlo 088 60) eaoalmd V=3t volt.
(alad t emsndlacem) gag 8y emomqlemos caislaflaflcleoimy.  t=0
e @ldlanemioid apen eolodess (wewoudlenimemela, 4 amdeamieias erato
eh0ullell@ cnadlenenisim obzo ] @oem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118237 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A small bob tied at one end of a thin string of length 1 m is describing a vertical circle so that
the maximum and minimum tension in the string are in the ratio 5 : 1. The velocity of the bob
at the highest position is m/s. (Take g=10 m/s?)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118237 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 m oflgmies &) emdem aoslen sepon adaglalddenim ao) oaidle emiosml

RlOENIMO® O\ Id:)@ MvjadiSlaniemioid aleslad emeoru)m alemoridll &lslemio

&H0mmIa0 aelay euelemsd mailess @mipIomo 5 : 1epem. eeioml afpallo

pwdm moomesmemiemod meale® eunm _  m/s @

(oalm : g=10 m/s?) QEO!Igg?gUI:[?



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id

Correct Marks : 4 Wrong Marks : 0

: 70819118238 Question Type : SA

The potential energy (U) of a diatomic molecule is a function dependent on r (interatomic

distance) as

Pt 13 3
105

where, a and  are positive constants. The equilibrium distance between two atoms will be

d

2a \b
— |, where a=
5 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id

Correct Marks : 4 Wrong Marks : 0

: 70819118238 Question Type : SA

.
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80} cleieqodls emomeps mdalesmidze (U), r (epgamdasisale)gs @daelo)

agmalem epwilafldanim, antcedaud eoerm

el a, B agimilod eatomigial cudleossmgosn.

d

oene’  @ppemd  malees

b
moemelle 6)v0 [% |hm@mﬂrﬂo&ago, el a=_ .
'

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819118239 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Theelectric field in a region is given by E = [':L’U 1
\2

A
Eoj ‘ % The ratio of flux of reported
)

field through the rectangular surface of area 0.2 m? (parallel to y-z plane) to that of the
surface of area 0.3 m? (parallel to x—z plane) is a:b, wherea=___

[Here .i' . ] and k are unit vectors along x, y and z-axes respectively]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

.
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Question Number : 26 Question Id : 70819118239 Question Type : SA $



Correct Marks : 4 Wrong Marks : 0

80} [esnomgs eamusyel aemuelo E = [ ;'L-'ﬂ i
J

A
ey |ﬂ ag)m @oerldleniomy,
‘, 5 )€

(mimym asmoaimsland 0.2 m* aflmiaidepale (-2 wmaeniing maomec),0.3 m?
afl@ldemaulo (x—z (®REmIM) MROMoe) HER, M0 HalblMEBEees
HSMNIGalddIM gibmian @emialomo a : b @em. eafdd a=
[adles i I k af) Mol ©LOoAo X, Y, z-EodHUTBER)OSWIRS afdh MElsTBR06M)]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118240 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transmitting station releases waves of wavelength 960 m. A capacitor of 2.56 uF is used in
the resonant circuit. The self inductance of coil necessary for resonance is
%108 H.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118240 Question Type : SA

Correct Marks : 4 Wrong Marks : 0 .
collegedunia:



60} mesm oflaimo 960 m @eonencdeelo H88 MoonsTBd aljoamialsimy. aealed
@eM)MIB Mgl salewordlafldlenim daloriigd 2.56 uF eq@e @en. @emMMIGo
(N JSlH000 @RAIRIB0W exHoafelon ammad Mdadsmmy *x10~%H

]

@em.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819118241 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The same size images are formed by a convex lens when the object is placed at 20 cm or at
10 cm from the lens. The focal Iength of convex lens is cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819118241 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e} cumimialom e) eaosrdanbm eaimmiad oo 20 cm, 10 cm agymd Epdeimas] @
U Q#HeMIIB Beo alejajmmuilalgs (alamllomio djalealsim). CmIEMeadm
padnien ennosnm 8o cm @06r.

Response Type : Numeric

Evaluation Required For SA : Yes Qcollegeduniaé

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819118242 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a certain thermodynamical process, the pressure of a gas depends on its volume as KV,
The work done when the temperature changes from 100°C to 300°C will be nR,
where n denotes number of moles of a gas.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118242 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

80} Mddlatio @oatnle (ielowia, aoy amaeatend adge @oalead oo malmo
kV? agm aflwosld eumveqigdenm). olad malda 100°C aymd 300°C alee
DOO)BMID 6.21QUM (alcuyed nR epldenie. HAlas n 6o} B R
ca0BMie agepe rvdlanym),

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :
Qcollegeduniag
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Question Number : 30 Question Id : 70819118243 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In the given circuit of potentiometer, the potential difference E across AB (10 m length) is
larger than E; and E, as well. For key K, (closed), the jockey is adjusted to touch the wire at
point |, so that there is no deflection in the galvanometer. Now the first battery (E,) is replaced
by second battery (E,) for working by making K; open and K, closed. The galvanometer

! e E ., a
gives then null deflection at ]2. The value of L—l is E ,where a=
2

Rh J,¢—60 cm—>
P i
B'i Im »

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118243 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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mmilgies aalogeat)o algd mddyglad, AB-@/asd (10 m ailgo ) dbj0i6Hw e
Dalogaty@ almome E amal E,, E, agmailemsndd djsimeloem’. K, (egoqy
6010l dleeymy) agirm delaiss, vomalemadqale aljeliwome pereoasddlencsm allwe
J; (&l ad afldlanymy oeajod Ky mo, K; egoqy e.ai0ie eniond E; mog eniopdi
E, 9@eq|sjomym]. @oeajodd woddaiemodlgd J, agmm snllazjalied md ajjelwomoe

SH06MIl6)M), ]L“—; agmaflen afle %m@r&rﬁ, ooaldd a=_______

5O

-
g

/L]
I'E, * K,
| |1~; ¢
: A

K |
—20cm—]; I
4

I
Rh —fm—] |
| F— J

. |

B € 1m 5

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

SectionId :
Section Number:

Section type :

Mandatory or Optional :

Chemistry Section A

708191756
3
Online

Mandatory

.
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911036
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819118244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
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The plots of radial distribution functions for various orbitals of hydrogen atom against “r’ are
given below :

The correct plot for 3s orbital is :
Options :

70819159881, (&)
70819159882, (P)

70819159883, (<) chllegeduniaé



70819159884, (D)

Question Number : 31 Question Id : 70819118244 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eeaniwe® eppmilad afllafw eodmligepsales coallom allmiiglanaum anesasmyo
‘I - Ho ADW)EE frIMWO (N0ad G @6y edos)Eeleaim),

(4 |
10
(B) |
10
©) |
10

20

<. 15

%= 1.0}

T s}

D) < "

enaflad 3s @odendigellom (iaflaflwome £.21QIM (%0 age ? Qcollegedunla



Options :

70819159881, (&)

70819159882, (P)
70819159883,

70819159884.

Question Number : 32 Question Id : 70819118245 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to molecular orbital theory, the species among the following that does not exist is :

Options :

0,°
70819159885,

70819159886, |12

70819159887, 22

Hes®
70819159888,

Question Number : 32 Question Id : 70819118245 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

smoglayyieiod sodenlg@ milavonmo @pmimdlal ®i6¢ a&os)aBldanim mmo=n

e)lsmead dlenldaneme) ag@ ?
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5
70819159885.

70819159886, |12

70819159887, D2

He,
70819159888,

Question Number : 33 Question Id : 70819118246 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The solubility of AgCN in a buffer solution of pH=3 is x. The value of x is :
[Assume : No cyano complex is formed ; K.sp(ABCN] =22x10"10 and K, (HCN)=6.2x10 0]
Options:

70819159889, 0-625x10°°

70819159890, 1-6%107°

16
70819159891, 2.2x 10~

5
70819159892, 1-9 % 10

Question Number : 33 Question Id : 70819118246 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

pH=3 @ &r} miaod coomdald AgCN o enwdmio x @M. af@ldd x ad alle
_ @em. (6®035)0m aljdepmosl@lad) (rujalm: M@EMI Edhdog M)
QSTT%D-:&%[‘I‘I"]FL% - Kh_p (AgCN)=2.2x10"1; K,(HCN)=6.2x10 10] collegeduniag
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Options :



; &)
70819159889, U-625x10

70819159890, 1-6%107°

70819159891, 2-2x 10710

5
70819159892, 1-9 % 10

Question Number : 34 Question Id : 70819118247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—| 15

m

In Freundlich adsorption isotherm at moderate pressure, the extent of adsorption

directly proportional to P*. The value of x is :
Options:
70819159893, 1

70819159894, €10

70819159895.

70819159896.

Question Number : 34 Question Id : 70819118247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

X

roworem abgariaal @vasMOdelated emo ‘
m

collegedunia:
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Options :

70819159893, 1

70819159894, “€T¢

70819159895. ~

70819159896.

Question Number : 35 Question Id : 70819118248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ellingham diagram is a graphical representation of :
Options :

70819159897, AG vs T
70819159898, AH vs T

70819159899, AG vs P

70819159900.

Question Number : 35 Question Id : 70819118248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ag)efldgoo o agwfiem auiallaflenimy ?

options: Qcolle edunia
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70819159898, AH vs T

70819159899, AG vs P

70819159900, (4G~ TAS) vsT

Question Number : 36 Question Id : 70819118249 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following equation depicts the oxidizing nature of H,O, ?
Options :

70819159901, K104 + H,0, — KIO; +H,0 +0,

2 Z Z
70819159902, 12+ H20,+20H™ - A~ +2H,0+0,

y
70819159903, 21 THOp +2HT =1, +2H,0

B 2
70819159904, “l2t H20; — 2HCA+O,

Question Number : 36 Question Id : 70819118249 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
069 dbsjadlanymaladd ag®’ eomacdemmacem Hy0, - 60 80dmildoem

(J@OCo UEILIENME ?
Options :

20819159901, KOs T HyO; — KIO; +HO 40,

.
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I,+H,0,+20H " — 21~ +2H,0 +0,

70819159902.
P
70819159903, 2 THyO, +2H — 1, +2H,0
2
70819159904, Cl2t H20, = 2ZHCA+ O,

Question Number : 37 Question Id : 70819118250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement about B;Hy is :
Options :
70819159905, All B—H—B angles are of 120",

70819159906. The two B—H—B bonds are not of same length.

70819159907, Terminal B—H bonds have less p-charactr_-r when compared to bridging bonds.

70819159908. Its fragment, BH; , behaves as a Lewis base.

Question Number : 37 Question Id : 70819118250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B,H, 6m mosnimuflo] @6y edosierildlesnmaiiad dloe wimimocum agym ?

Options :
20819159905, “A&° B—H—B eaoemanysaio 120° @oem.
20819159906, @M B—H—B eninwmemegos afigo myeyag)

.
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@Qe®m B—H ecouoemjaidan (snfluwlas’ cmiomsseasndd p-avjeonlo

dhJOCLIOEI.
70819159907.

70819159908, 2O Allewosdlajensodim BH;, ea) ayeflny’ eenimuoen.

Question Number : 38 Question Id : 70819118251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : Ce{]z can be used for oxidation of aldehydes and ketones.
Statement 1I Aqueous solution of EuSQ1 is a strong reducing agent.

In the light of the above statements, choose the correct answer from the options given below :
Options :

708191599009. Both Statement I and Statement 11 are true

70819159910. Both Statement I and Statement 1l are false

70819159911. Statement 1 is true but Statement 11 is false

70819159912. Statement 1 is false but Statement Il is true

Question Number : 38 Question Id : 70819118251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
61 [aImimonumenid maildlasym) :

(Umimocum I EpGWlaoanWw idbalHS®o HIEQOMIBHBINSD Jo
a0 milaeemaei ey CeO, HalcRIN|aIcmoe:
(ddmocuen 11 : EuSO, 60} 2eieloond] 86} amni® rlenddmikeodaoen.
D)HEINE (UM@IUMSHO8 Mosumilal, afRlle @MEWIRINID O
Rl OEEIES g collegedunias

Options :



20819159909, \HIV@QUM I 9o Il 9o vodl@aeny.

20819159910, HM@UM I g0 1l o H®RIEM.

20819159911, (HM@OUM I ddl@jo, 1l H®GRI@OE.

20819159912, ov@dUm 1 &®Qle, 11 vordl@moen).

Question Number : 39 Question Id : 70819118252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following pairs, the outer most electronic configuration will be the same ?
Options :

70819159913, V** and Cr*

70819159914, Cr* and Mn??
70819159915, Ni*" and Cu’

¢ o
70819159916. Fect and Co*

Question Number : 39 Question Id : 70819118252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®06Y  60s)OldlenmMalaia, suoanima rleESI almpme Bojealnelwes
eR0S! ay® ?

Options :

V4E: and Cr? :
70819159913. Qcollegedunlag



70819159914, Cr* and Mn?*
70819159915, Ni*" and Cu’

1.2+ 4
70819159916, e~ and Co

Question Number : 40 Question Id : 70819118253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The hybridization and magnetic nature of [I‘vIn{CI\IJﬁ]4 and [FD{CI\I){-]]3 , respectively are :
Options :

20819159917, @-sp” and paramagnetic

70819159918 sp’d® and diamagnetic

70819159919. dzqu and diamagnetic

3 72 _ _ :
70819159920. -‘"Fd and paramagnetic

Question Number : 40 Question Id : 70819118253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[Mn(CN)]*~ & [Fe(CN) ]’ agmlai@ies asanEnllonademanm, @imilsm)einlo

i

af)ilol @A @Dem.

Options :
d*sp? & a1omomounElles
70819159917.
3 0 " 13
B L A collegedunia



o _3 v}
70819159919, @ " & W@OROUNH

3 2 ;
70819159920, 5 @ & aI0@OMINEld

Question Number : 41 Question Id : 70819118254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  An allotrope of oxygen is an important intermediate in the formation of
reducing smog.

Statement 11 :  Gases such as oxides of nitrogen and sulphur present in troposphere
contribute to the formation of photochemical smog.

In the light of the above statements, choose the correct answer from the options given below :
Options:

70819159921, both Statement I and Statement 1I are true
70819159922. Both Statement | and Statement 1l are false

70819159923, Statement 1 is true but Statement 1l is false

70819159924. Statement 1 is false but Statement 11 is true

Question Number : 41 Question Id : 70819118254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
Qcollegedunlag
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9 M6NE | lMICUMLD mldlean)m) :

(admi@ocum 1 : mleeodmilaotlmom Mmenow) §meodk)MElt H88 80} (alWom
spddafog, asmized 6] @egoesia] eoem.

(Ii@acum I1:¢s0cojomadlwol® 988 eoMSROPOIo  MRanolO@Wio

LI 0ol TIRIEE G066 MW Jdhid, Cn0e50ndalenm Mmeaow)
96M20dh) MA@ (IWom aléh cacldaim),

DD (IMMIINSOHGLa) afAe BRMERIRINIW OEMe af® ?
Options :
270819159921, (HI@IAUMRGD I 9o II go Lodl@osn.

Al M@macU Maéwd |1 1l S0,
70819159922, o Tl 9o 6Oy

20819159923, HT@aQUM I vdl@jo 11 H®FYe @REM.

20819159924, V@AM I ©®mAo 11 wdlwjo @mem.

Question Number : 42 Question Id : 70819118255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete combustion of 1.80 g of an oxygen containing compound (C,H O,) gave 2.64 g of

CO, and 1.08 g of H,O. The percentage of oxygen in the organic compound is :
Options :

70819159925, 2033

70819159926, 23.33

70819159927, ©3.53

70819159928, 21.63

.
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Question Number : 42 Question Id : 70819118255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C,H,0, agym ssmilezad mowsmatiod 1.80 g aldepaomio Riefllajeajoid 2.64 g CO,,
1.08 g H,0 agymilas peneondl. agedlad ey eodwomiles mompsmenieoal sodsrilze

ommoMo
Options :
70819159925, 2033
70819159926, 23.33

70819159927, ©3.53

70819159928, 21.63

Question Number : 43 Question Id : 70819118256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[dentify A in the given chemical reaction.

Options :

70819159929. :

CHj,

e

70819159930.

M[‘JE (-.13

773 K, 10-20 atm

major prod uct

.
Qcollegedunlaé
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70819159931.

70819159932. :

CH;

Question Number : 43 Question Id : 70819118256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

00 @M AId@mMETeal O@alimoe A ag)mmowidlenio ?

_CHy
CH Mo,O
| 2 Cl[3 — 1 '%' '-‘_ r ’4%"
! P 773 K,10-20 atm  major product
CH, ,.f'CH\\
\“‘CHQ ClH;,
Options :

70819159929.

70819159930.

70819159931.

CHj,

20K O

70819159932.

.
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Question Number : 44 Question Id : 70819118257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identf_f}-' A and B in the chemical reaction.

OCH,
— T s ] Nal
(major) dry acetone (major)
NO,
Options :
OCHj, I
Cl ]
.n"*'L — H =
I NO
70819159933, NO, 2
OCH,4 OCH,4
Cl I
A= B =
NO, NO,
70819159934,
OCH; 1
A= B =
Cl Cl
NO, NO,
70819159935. -
OCHj, OCHj;

Cl
A = B =
Cl
NO, NO,

70819159936. )
Qcollegedunlaé



Question Number : 44 Question Id : 70819118257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
600 oMV lCUdEBMEEIG A, B ag)miou agamoeny ?

OCH;
HCI M;
MNal > [B]
drv acetone .
; (major)
NO,
Options :
OCH;4 I
Cl ]
A = B =
I NO
70819159933, H 2
OCH;, OCH;,4
Cl I
A= B =
NO, NO,
70819159934,
OCH; ]
A= B =
Cl Cl
NO, NO,
70819159935. B
OCH;, OCH;,

cl
A =
NO,

70819159936.

B =
Cl
NO,

.
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Question Number : 45 Question Id : 70819118258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major pmduct of the [ f}llowing chemical reaction is :

1) HyO+, A
_ 2) SOCI,
CH;CH,CN > ?
3) Pd/BaSO,, H,

Options :

70819159937. S el e

70819159938, (CH;CH,C0O),0

70819159939. R

70819159940, CHaCH-CHO

Question Number : 45 Question Id : 70819118258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@69 OHIS)EHIEBHIM BOMAIUBEBDMETOR (WM BEajMo aR® ?

1) H;0*, A
_ %) 80Cl;
CH;CH,CN >
3) Pd/BaSO,, H,

Options :

70819159937. e el

{{: H;{:H'}{:D] "?0 i
70819159938, 322 Q collegedunia:



H,CH,CH,

70819159939, ©

70819159940, “HaCHCHO

Question Number : 46 Question Id : 70819118259 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following reactions will not form acetaldehyde ?
Options :
Pd(II)/ Cu(II)

CH2: CHE + 02
70819159941, H0

i CI’GB—IIESD;L
CH,CH,OH -

70819159942,

i) DIBAL-H
H,O

CH;CN —
70819159943, i)

L
CH4CH,OH W
70819159944, o

Question Number : 46 Question Id : 70819118259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m6Y Odos)milldlanim momaludemmssgd @mpo@aullonann’ HeRIsIOHE
a@eoen ?

Options :
Pd(II) / Cu(II)

CH2: CHE + DE
70819159941, S Q collegedunias



CH;CH,OH -

70819159942,

i) DIBAL-H
CH3;CN —
ii) H,O

70819159943.

“u
(_1H3{1H2ﬂ]H —
' 573 K
70819159944,

Question Number : 47 Question Id : 70819118260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound(s) which will liberate carbon dioxide with sodium bicarbonate solution is/are :

NH, COOH OH
NO, NO,
A= B = e
NH, NH,

OH NO,
Options :
70819159945, /+ and B only
70819159946, = ™Y
70819159947, © and Conly

70819159948, Bonly

Question Number : 47 Question Id : 70819118260 Question Type : MCN Nntinn Chufflina - Vac

Is Question Mandatory : No .
Y Qcollegedunlaé

Correct Marks : 4 Wrong Marks : 1 -



®069 MHdd e dleeMafldd aemoads mowemeangoem’ emoul@o dodenicemy
erolalad dlom sodeuend wewasnnmWw aljOMmes i ?

NH, COOH

A0 Y

Options :

270819159945, * @io B @jo @(®o

70819159946, & 2O®o

70819159947, © @30 C @io 20(@o

70819159948, B @A®o

Question Number : 48 Question Id : 70819118261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction/s will not give p-aminoazobenzene ?

NO,
A i) Sn/HCI
i) HNO,
iii) Aniline
NO,
" i) NaBH,
B ii) NaOH
iii) Aniline
NH,
- i) HNO,
B i) Aniline, HCI
Options : Qcollegeduniaé
70819159949, * only )



70819159950, & Ny

B only
70819159951. i

70819159952, /A and B

Question Number : 48 Question Id : 70819118261 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®O6Y n @] @fl @l omafl @ UPODIOHE 0000 (o LD OB M MR 6] @
p-mealemomeamoasadmild pensodnmile] ?

NO,
A i) Sn/HCl
ii) HNO,
iii) Aniline
NO,
B i) NaBH,
) i) NaOH
ii1) Aniline
NH,
. 1) HNO,
C- R =
ii) Aniline, HCI
Options :

70819159949, * 2Ol®o

70819159950, © @Ol@o

70819159957, B 20l®0

70819159952, * @do B @lo Q collegedunia:



Question Number : 49 Question Id : 70819118262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which statement is correct ?

Options :
70819159953, buna-N is a natural polymer.

70819159954 Buna-5 is a synthetic and linear thermosetting polymer.

20819159955, Neoprem is an addition copnl}fmer used in pla_qtic bucket manufacturmg.

20819159956. 5}-’11&19515 of Buna-S needs nascent OXy gen.

Question Number : 49 Question Id : 70819118262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ARO[l MmOM af® ?

Options :

70819159953, Puna-N 60 (aldh)alaem talogod @pem.

70819159954, Bune-S 8@} &y@ia, elrfiad emdencamgion daloglad @pem.

gl i p@ajosmadel palewoudlanim eo) @oaflauid es0-calogdlad @em

70819159955, e@ok .

Buna-S 9adajodlaflenom ememul sodsmilead @aiumoe.

.
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Question Number : 50 Question Id : 70819118263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the glycosidic linkage between galactose and glucose is present in lactose ?

Options :
70819159957, -1 of galactose and C—4 of glucose

70819159958 C-1 of galactose and C-6 of glucose
70819159959, C-1 of glucose and C—4 of galactose

70819159960. C-1 of glucose and C-6 of galactose

Question Number : 50 Question Id : 70819118263 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(DBIHESIMo (PIeANIMjo Mmalenes o aagesnomialks eimumaos alod:esImie

o8am ?

Options :

70819159957, C-1 wnorlaesomo & C4 ABH6YIT

20819159958, C-1 inorldhEsam & C-6 RAEH610T0

20819159959, —~1 §R4GHO0M & (-4 (I0BIHESOM

C-1 griess0m & C-6 10aldhesam
70819159960.

.
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Chemistry Section B

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191757
4

Online
Mandatory
10

5

20

Yes

1
7081911037

Yes

Question Number : 51 Question Id : 70819118264 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N
0.4 g mixture of NaOH, Na,CO, and some inert impurities was first titrated with ﬁ HCl

using phenolphthalein as an indicator, 17.5 mL of HCI was required at the end point. After
this methyl orange was added and titrated. 1.5 mL of same HCI was required for the next

end point. The weight percentage of I\IELECCI3 in the mixture is

the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

. (Rounded-off to

Question Number : 51 Question Id : 70819118264 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

collegedunias

India’s largest Student Review Platform



NaOH, Na,CO, aflomm #)0.2] 0flaf|&l@n0@ @0)EL oleodmomEel 088 &80)

N
dl@lmeien 0.4 g, 1 id adlemodademeld, edulesnnoow dalcwauila] eanseisy

0.010®). g calo@mBosond 17.5 mL HCI ecuendlaimm. @oalm)emato dlaalom
006l calba @eem HCl wimodl allesje epsesy 6.010®meajowd, agdaw’ ealowad
ag)ermoid 1.5 mL HCl aflenglo ecuendlounm), agelad digglomtloa Na,CO, @ps ooy
@®@Mo af)® ? (OMIZSIE aljdey Mos\wi@d)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118265 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A car tyre is filled with nitrogen gas at 35 psi at 27°C. It will burst if pressure exceeds 40 psi.
The temperature in °C at which the car tyre will burst is . (Rounded-off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118265 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

80} H00 sob 27°C ovadnoaldd 35 psi adgeiad eamsemd wm adoee alo )
adgo 40 psi @ldh mRUBnowoT SR Halogie. SO MalogI eTadmoal Qcollegedunla
epldanio. (amogsiem aljdemmosyaia)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118266 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of cyanamide, NH,CN, with oxygen was run in a bomb calorimeter and AU
was found to be —742.24 k] mol "%, The magnitude of AH,qq for the reaction

' i : 1 . .
NHCNg) EUZ‘S} —Nag) + Oggy + HaOy

i5 ___ KJ. (Rounded off to the nearest integer)

[Assume ideal gases and R=8.314 ] mol "1 K 1]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118266 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
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momndlwje NH,CN, sosniamie eal emoom’ aeandlalgdld oss
(el wudenmesion AU oo -742.24 k] mol ! @pen. ag®ld moey
6088l s oMl cudemmensen

o 3 : _

AHg 6 aflel k] moeldanie. (emogsymm aljbemmosyaid)
[Oaguild comaeanm @mmoniands, R=8314 Jmol 1 K]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118267 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 molal aqueous solution of an electrolyte A2B3 is 60% ionised. The boiling point of the solution
at 1 atm is K. (Rounded-off to the nearest integer)

|Given Ky, for (H,0)=0.52 K kg mol y
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118267 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
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A,B. agym elcuem@dilond 1 emogodd (molal) Zeleh@dwies aooemlaosmoion cmom

60% ®em. ag®l@ @ evwdwms sladea (esmalmld), 1 atm adgemlc
K moaidlane. (amogsyom aljbenmosyeiad)

[ K, (H,0)=0.52 K kg mol ]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118268 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
In basic mediuml{_'r{)f oxidises .52(}32 to form Iﬁ{}f and itself changes into .f_'r(i}lll.;

The volume of 0.154 M .Cr[}f required to react with 40 mL of 0.25 M .52{']32 is

mL. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118268 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AHORUEMRYER maw{gmm’lmﬂ 'gmf ,'52932 6N B30db1db(®l 2] 'quf @R maggrmg.
@OEMINSIale MJ@o Cr(OH),” @@ 200} agisled 40 mL, 0.25 M 5,0°

eeml@imoe] (lelacudomlencd @@ 0.154 M Lqu slownlw)es @ Qcollege dunia
mL @em. (H®mOZSED aljdepmoayaid) ' arset Sodent oo Platrn



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118269 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1
For the reaction, @A +bB — cC+dD, the plot of log k vs T 15 given below :

T slope =—10000 K
log k
1/1" —
The temperature at which the rate constant of the reaction is 10 el . K.

(Rounded-off to the nearest integer)
[Given : The rate constant of the reaction is 10> s ! at 500 K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118269 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Qcollegeduniaé



1
aA+bB — C+dD agm eomademmedlo) log k vs T ((00ad ®I6Y

T
QERSOIWETN 0
T slope = —10000 K
log k
1
/l' b
79 edmaludmmmenlon cog mdleomo 1074s-! @payma K

§atimonflanem. (emogsie® aljbepmosy)

[500 K gvatimondidd eog cudieoso 107°s ™! @oeni]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118270 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The ionization enthalpy of Na* formation from Na, is 495.8 k] mol "1, while
the electron gain enthalpy of Br is —325.0 k] mol I Given the lattice enthalpy
of NaBr is ~728.4 k] mol~!. The energy for the formation of NaBr ionic solid is
(-) x 101 kJ mol 1,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001 Qcollegeduniaé



Question Number : 57 Question Id : 70819118270 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Nay, @ oflor Na* 9enzosomies @owemlanem agmdooddall 4958 k] mol ~emen.
Br 60} ©elde(sosm anem agidoddall -325.0 k] mol ~lemem. NaBr eq aoglmy
ag)Bioo@all ~728.4 K mol ™! @pend. @osmemawendd @rewoanld: aunnjimsld Nabr
OENB0IM EBLMMOD pIdBEo () x10~1 k] mol ! moafdani.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118271 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, the number of halide(s) which is/ are inert to hydrolysis is
(A) BF, (B) SiCl, (€) Pd; (D) SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118271 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
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6% abosjomldlenmald zealle@aemamln’ alew@addkom anoelzmd
(Moo | MoWHMETRID apamgo ?

(A) BF, (B) siCl, (©) Pd; (D) S,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118272 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the fol[owmg chemical reaction.

CH = cH 1) Red hot Fe tube, 873 K W
S 2) CO, HC, AlCl;

The number of sp® hybridized carbon atom(s) present in the product is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118272 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
a6 madalldlenim eomiaicudemmo aldluenile)d,

1) Red hot Fe tube, 873 K

CH=CH » Product

2) CO, HCI, AICI Q lleseduni
o@ajmanilad (product) sp* HeanERllDHWEMAHMD 88 S ERREIBRINS af) PSR Seboabi



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118273 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Using the provided information in the following paper chromatogram :

A =]
~~Solvent front
Be A
2cm
5cm
Ae h 4
2cm
. R CTTTT—— v
/ .
7 = Base line
Spot

Fig : Paper chromatography for compounds A and B.

the calculated Rf valueof A x1071,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118273 Question Type : SA
Correct Marks : 4 Wrong Marks : 0 Qcollegedunla



®26% ®MIdlsnM calald Hdmmoegodad dflmimes allaiemsd poicwoud gjom

B
hem
Ae
..... / \
7
Spot

™ Solvent front

Zcm

2cm

3 Base line

afl@o : A, B agyml mowismemgins salald Hidoneg(¢idadl

A wjeswjo Reawoey,  x107! @mend.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :
Mark As Answered Required? :

Sub-Section Number :

708191758
5

Online
Mandatory
20

20

80

Yes

1 P collegedunia



Sub-Section Id : 7081911038

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819118274 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Letf, ¢ :N — Nsuch that f(n+1)=f(n) + f(1) V neN and g be any arbitrary function. Which

of the following statements is NOT true ?
Options:

70819159971, [ [is onto, then f(n) =n ¥ neN

70819159972, [is one-one

70819159973, If ¢ is onto, then fog is one-one

70819159974. If fog is one-one, then g is one-one

Question Number : 61 Question Id : 70819118274 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fg: N = Naogmal@d, f(n+1)=f(n)+f(1) ¥ neN. g agn@ e} ‘@delgdl’

anedadmmoem. ®6¥ adhos)arldlea)maieiad rdlegpome agel ?

Options :

70819159971, | 8061S] @@ f(n)=n ¥ ne N
70819159972, J CUeNd-qued @oer

20819159973, & B6NDS} @DWOD, fog UeNd-Aed @6

. Qcollegeduniag
Ilrﬂg mm_mm m@@:ﬂiﬁ’ 8 mm—mm m@m‘ & India’s largest Student Review Platform

70819159974,



Question Number : 62 Question Id : 70819118275 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the Iinos'{z —-i)z= (2 + i)z and '{2 +i)z+ (i— 22— 4i=0, (herei?=-1) be normal

MadthJHMHmbﬁ+f+1+f=[}Ew%mummmdmhﬂﬁmnMHMMﬂm

Options :

3
<
]

70819159975. -

I‘H

(]
<
(]

70819159976.

-\ﬂ‘ -

70819159977, 2¥

ol

70819159978.

Question Number : 62 Question Id : 70819118275 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C ogm ayomewlos’  emodaelo®,  GEAIBRIMD  (2-i)z =2+ i)
' 2

Q+i)z+(i-2Z-4i=0,F=-1)agmicd. iz+Z+1+i=0 agm evel C agm
clymmeien emosie ead)mMieuEld eoalen @ao:

Options :

70819159975, 32

1
2+

I3

70819159976.

.
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2l

70819159977, 2

3
"=
70819159978, V2

Question Number : 63 Question Id : 70819118276 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The integer “k’, for which the inequality 12 2(3k —1)x 4 8k2~7 >0 is valid for every x in R,
15

Options :

2

708191599709.
70819159980.
70819159981, 4

70819159982, U

Question Number : 63 Question Id : 70819118276 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ap@ eoall® moay x € R -mjo edlwow allwoele x2-2(3k - 1)x+8k2-7 > 0 agom
enad-gadnjoelldiad malal@ldanim k' agm aljbenmoswosm

Options:

70819159979, 2

70819159980, 3 :
Qcollegedunlaé



70819159981, 4

70819159982, U

Question Number : 64 Question Id : 70819118277 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
[ L ‘5 g o ‘: L WSR-S T U z
IIU{IJ,(lJ{E,l—_COS ,y= ) sin dﬁam_‘l.a—lcos B .sin™" ¢ then :
n=0 n=0 n=0

Options :

70819159983, YV ~z=(x 1 y)z

70819159984, ¥ 1 z=(xty)z

708191 59985. _Ilf l HZ FFX =7

70819159986, V7 =4

Question Number : 64 Question Id : 70819118277 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o o o
_ T v 9 .
0<0, <7, x= D, cos nﬂ,y= Y sin™d,z= ¥ c0s2"9 . sin ¢ @DQOM

g n=0 n=0 n=0

Options :

70819159983, W z=(x 1 y)z

70819159984, ¥ Tz=(xty)z

.
Qcollegedunlaé
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70819159985, ¥ tyztzx=2 )



70819159986, V7 =4

Question Number : 65 Question Id : 70819118278 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If Rolle’s theorem holds for the function f{x)=x"~ax?+bx -4, xe[1, 2] with |— | =

then ordered pair (a, b) is equal to:
Options :
70819159987. ©.8)

70819159988, (> &)

708191599809. S

(-5, —8)
70819159990.

Question Number : 65 Question Id : 70819118278 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

xe(1, 2] agm @sem@mﬂmgg@ flx)=2"-ax®+bx—4 agem macaemlad, ‘cooday

dl@oo’ emgalsnnaisim), f ]—\ = 0 af)@l® moalegs] (a, b) agma:

Options :

70819159987. )

70819159988. & =9

.
Qcollegedunlaé
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708191599809. S

(=5 —8
70819159990.

Question Number : 66 Question Id : 70819118279 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. s n &
lim | 14 5 is equal to :
n—¥ac n-
k. )

Options :

70819159991, 0

k3| =

70819159992,

70819159993, ©

70819159994, 1

Question Number : 66 Question Id : 70819118279 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i T
1 4 i] i | e
lim | 1+ = L agmm) :
n— n-
\, s
Options :

70819159991, 0 Qﬁﬁ!’iﬁfﬁ'ﬂﬂfﬁ



B3| =

70819159992.

I':'|r—*.

70819159993.

70819159994, !

Question Number : 67 Question Id : 70819118280 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of the integral

Jsinl]_ain 20 (sin®0 + sin*0 + sinZ0) V2sin®0 + 3sinZ0 + 6

di is:
1 — cos20

(where c is a constant of integration)

Options :

3
— [9 2sin®0 — 3sint0 651-.1]2'.]}5 F ¢
70819159995.

3

L [9 Ecnsﬁl] 34:05'1!] f)CDSEI]]E - C
70819159996, 18 '

- 2
_i [11 18sin”0 + 9sin*0 l%inﬁl]}?— F ¢
70819159997.

3

_i {11 18cos20 + 9coso 24:(:*'3‘;’[]-‘E Foc
70819159998, 18 * '

.
Qcollegedunlaé
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Question Number : 67 Question Id : 70819118280 Question Type : MC!



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

do

JgﬁﬂLsﬁ12U{sﬁnﬁn - sin?0 + sin20) v2sin?0 + 3sin20 + 6
1 — cos20

ag)mailen eomdeoad aloel) :
(c agym@ eomeaurilenl cudioalemosn)

Options:
3

! [9— 24in®e — 3sine fmmzuF -

70819159995, 18

3

l [9 ZCGSEU 3{2054[] 6{:05‘}1]}5 F C
70819159996, 18

3

12 [11 18sin20 + 9sin*0 zqm*"uF be
70819159997, 18

3

_i [11 18cos®0 + 9cos*o 2{:05&[]}5 FC
70819159998, 18

Question Number : 68 Question Id : 70819118281 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1

The value of szelxj Jd;r , where [t] denotes the greatest integer = t, is :
-1

Options :
e+ 1

70819159999, 3

1

70819160000. 3¢ ,
collegedunia:



'r_-fl

70819160001, €

e+ 1
70819160002, e

Question Number : 68 Question Id : 70819118281 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

)

el gy M@ melo HeMenddad. [t agm@ p@dM al)demmon) < t agimd
-1

@rldleaim).

Options :

e+ 1

70819159999, 3

1
70819160000, -¢

R |

70819160001, ¢

e+ 1
70819160002. 3e

Question Number : 69 Question Id : 70819118282 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a curve passes through the origin and the slope of the tangent to it at any point (x, y) is

T |
¥ Aty 8, then this curve also passes through the point : .
2 collegedunia:

Xk

Options :



70819160003. @, 9)

70819160004. 2:3)

70819160005, > %)

70819160006, (4 4)

Question Number : 69 Question Id : 70819118282 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
8] (Uie®, epworsnllmnleles &smeatodimy (x, y) agm ellmald @ loss

-
amosjuo@es aidal 4+ ¥+ 8 o nomopemmd, au® esmigalodm aego)
¥ —2
enflo3)cuoem
Options :
70819160003, (*)
70819160004. 2:9)

70819160005. (5 4)

70819160006, (4 4)

Question Number : 70 Question Id : 70819118283 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The image of the point (3, 5) in the line x — v +1=0, lies on : .
H B 2 Qcollegedunlaé
Options : 2 India’s largest Student Review Platform



R LV
70819160007, X 4"y +2

_ 2
70819160008, (¥ 2
70819160009, (*

70819160010, (¥

Question Number : 70 Question Id : 70819118283 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
x—y+1=0 agmm soaldlad (3, 5) agmm mllsialen oenz mudladle.olgumma

Options :

70819160007 X

. of |
70819160008, * 2
70819160009, (X ~4)*+(y—4)?

. 2 9
70819160010, (¥ 2"+ (y—2)

Question Number : 71 Question Id : 70819118284 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tangent is drawn to the parabola yzzﬁx which is perpendicular to the line 2x +y=1.
Which of the following points does NOT lie on it ?

Options:

{3 x
70819160011, %) chllegedunlaé



70819160012, (6 0)

70819160013, (> %)

(4, 5)
70819160014.

Question Number : 71 Question Id : 70819118284 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2x+y=1 )M cosWHs flosnimow] y2=6x af)M alodcauosld B8] H®ISIAI0
QleWBnIM). af)@l® @6y asosjmeiidleeim emllmsosld, @ coawldd sideqlsoeme
af® ?

Options :

"%
70819160011. 92

70819160012, (6 0)

70819160013, (> %)

(4, 5)
70819160014.

Question Number : 72 Question Id : 70819118285 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"9 7 2 2
x" 1 e X 1 = N
If the curves, — 4 J;— =1 and ? | ’I’E = 1 intersect each other at an angle of 90°, then
a )
which of the following relations is TRUE ?
Options : .
P Qcollegedunlaé

70819160015, @ Tb=ctd g



70819160016, @ b=c—d

c+d
b

ab =
70819160017. a

70819160018, @ ¢=b+d

Question Number : 72 Question Id : 70819118285 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 ?

3 | 8
£ty yT =1, % I y? =1 ol @@ 90° emoemaallad d5lmisim). agsled,
a 1)

269 ed0S)Ildleni Mm@ trlwow eumbena ?

Options :

70819160015, @ tb=ctd

70819160016, @ b=c—d

c+d
b

ab =
70819160017. a

70819160018, @ ¢=b+d

Question Number : 73 Question Id : 70819118286 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let « be the angle between the lines whose direction cosines satisfy the equat'-—-

1+m-n=0 and I>+m2-n2=0. Then the value of sinta + costa is :
Qcollegeduniaé
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w| W

70819160019.

ool W

70819160020.

R | =

70819160021.

3
70819160022. 4

Question Number : 73 Question Id : 70819118286 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ltm-n=0, 2+m?-n2=0 agmm] acod)aeald ‘Wweodmd cHoeemmamy’
ndlwodym, coaldmidasisulegs emoem @em’ o ag@la, sina+cosla agemallon
Y

Options:

w|u

70819160019.

0| W

70819160020.

R =

70819160021.

W | 03

70819160022.

Qcollegeduniaé
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Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The equation of the line through the point (0, 1, 2) and perpendicular to the line

¥—4 gel =k,

2 3 2
Options :
x_ ¥ i 2
70819160023. 4 3
x _¥ I:z 2
70819160024. 3 4 3

70819160025, 3 4 3

| =
i
%

70819160026.

Question Number : 74 Question Id : 70819118287 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x 5 s 1’; B 71 af)m eoeles eloeucdlo (0, 1, 2) agm enflmjallees

HS(M)Eal0dR)MNMBOW ERELWOST :

Options:
.izy 1:z 7.
70819160023. 3 4 3
* _ ¥ I:z 2
70819160024, > 4 3

x z— 2 .
.y . Qcollegedunlaé
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5
70819160026. 2 4 3

Question Number : 75 Question Id : 70819118288 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When a missile is fired from a ship, the probability that itis intercepted is 7 and the probability

3 .
mMHWHEHEMBmom%M@WmﬂmHHmmHMmmm&Lm1.HmmMM%MEMMHM
independently from the ship, then the probability that all three hit the target, is :
Options :

1
70819160027. 27

oo |

70819160028.

| W

70819160029.

4‘-|'..-J'

70819160030.

Question Number : 75 Question Id : 70819118288 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
Qcollegedunlaé
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1
dpalefldd dlom” allessalieoym aloemeld, ®sqeaqjsomies mow® 3 90,
MSQORISIID EUMOTIT cldsiEnild agEmINER MW % oo @EM. 3 AYEmim
aloamelsd dojelld oom wemde allessallajodd, @ ajmio el
) OISR MVOWN® ag)M) :

Options :

i |
70819160027. 27

!I-“'|H.

70819160028.

oW

70819160029.

plb-lu'

70819160030.

Question Number : 76 Question Id : 70819118289 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The coefficients a, b and ¢ of the quadratic equation, ax2+bx + ¢ =0 are obtained by throwing
a dice three times. The probability that this equation has equal roots is :

Options :

70819160031, 36

70819160032, 54

M|""

70819160033.

.
gcollegedunlaé
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5
70819160034, 216

Question Number : 76 Question Id : 70819118289 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ax?+bx+c=0 ag)m 0600 byl maadHmIlaR KjeemIMMOMBEI® a, b, ¢ gl
‘80 06’ @M @M af)J@IMAETlaLeS SHOMBAMmIM. MBIEIN ®je) HEmosB
HIFOMIBR MVIWY® ag)Mma :

Options :

70819160031, 26

70819160032, 54

s

70819160033, /2

5
70819160034, 216

Question Number : 77 Question Id : 70819118290 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

All possible values of 0 £ [0, 27] for which sin 20 + tan 20 > 0 lie in :

Options :
T ) 3 )
0, :| L |T|', =i
2 2
70819160035. * = A b g
'|f] _.r\| |f_.r 3 \| ir & 11—.r“| Qcollegeduniag
[r oY L) — — L) _—, — ¢ India’s largest Student Review Platform
70819160036, * %/ 2 4) \2 6



70819160037. %

: - p
(D, 11 U 2 mibucld (%
70819160038, =/ " e

Question Number : 77 Question Id : 70819118290 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
b < [0, 2] agnaiiad agep 0" mjenemBREa0 MOWMIHIM @aEE sin 20 +tan 20 > 0
cudlafle_aigmmae :

Options:

m
[], ? | L l PR e
70819160035. + <~ :

]ru ™) ad 3_““| {h 1w
70819160036, \ 4/ o O T "
0, _'\| U |fI i\| 5 |”FT ?:r“*|
70819160037, = =’ 2" 4 6 )
: 3 : i
05w (35 = (F T

70819160038. *

Question Number : 78 Question Id : 70819118291 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The total number of positive integral solutions (x, v, z) such that xyz=24
B collegedunia

Options :



70819160039, 24

70819160040, 20

70819160041.

70819160042. e

Question Number : 78 Question Id : 70819118291 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

xyz=24 MIWDILYM OEOHI@ (x, y, z) Mm@Hoam ealomiglal oawd
aoeyadmian e agspo :

Options :

70819160039, 24

70819160040, 30

70819160041, ~©

70819160042, *°

Question Number : 79 Question Id : 70819118292 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man is observing, from the top of a tower, a boat speeding towards the tower from a
certain point A, with uniform speed. At that point, angle of depression of the boat with the
man’s eye is 30° (Ignore man’s height). After sailing for 20 seconds, towards the base of the
tower (which is at the level of water), the boat has reached a point B, where the angl

depres_sion is 45", Then the time taken (in seconds) by the boat from B to reach the base of ch I egeduni as
tower 1s : India’s largest Student Review Platform



Options :

70819160043, 10

10(/3
70819160044, 10¥3 + 1)

70819160045, 10+/3

70819160046, 10(¥3 — 1)

Question Number : 79 Question Id : 70819118292 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8} saudled ayadlad mlom aflesllenym amjaym, eeo calnold memidlenym,
scudlem eldaimodsl almlm eeniog, A agym enflazyallcd 30° eldeanoeniad aoemimm),
(amjatiO@ oo aldlarlanimmlg)). 20 ameamimierato B agom ellmjallad 45°
&lveancamiod scudemos ansianimmon doemimm). )@@, B agimn enflmadd oflom
scudlead alaugleaimmond ceniog ag)sienim mado (amudeadla) agmma :
Options :

70819160043, 10

10(3
70819160044, 10¥3 + 1)

70819160045, 10+/3

70819160046, 10(~3 — 1)

Question Number : 80 Question Id : 70819118293 Question Type : MCN Nntian Chufflina - Vac

Is Question Mandatory : No .
collegedunia:
correct Marks : 4 Wrong Marks : 1 & India’s largest Student Review Platform



The statement A — (B — A) is equivalent to :
Options :

70819160047, * — (A — B)

70819160048, 2+ — (A v B)

70819160049, & — (A A B)

70819160050, > 7 (A< B)

Question Number : 80 Question Id : 70819118293 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A = (B — A) oM (@IMimoaUmdes) @ )mow) :

Options :

70819160047, * — (A — B)

70819160048, 2+ = (A v B)

70819160049, * —7 (A A B)

70819160050, > 7 (A <7 B)
Mathematics Section B
SectionId : 708191759
Section Number : 6 )
Qcollegedunlaé

Section type : Online



Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911039
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819118294 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

."'”\-.

0 tan1 1 |

; W2/
If A= and (I, +A) (I, A) 1=L

tan' —| (0

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819118294 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

)
1] tan(—|
2)

A= 7 o0, (I, +A) (- A)

0

r
tan| - 1]
\ 2

4

i

BIDEIT.

Response Type : Numeric

'ab

d

d

w, then 13(a2+b?) is equal to

a -b
b= L l 9o @pwod, 13(a®+b?) agmae’

.
Qcollegedunlaé
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118295 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

¥ 2
Z

-
Let A=y x|, where x, y and z are real numbers such that x+y+z > 0 and xyz=2.
z

Xy

If Az:Ia, then the value of 1° 3.5 b2 is__

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118295 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

]

..... @Dem.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes QCOllegEduniaé

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819118296 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the system of equations
kx+ty+2z=1
Ix—y—2z=2

2x—2y—-4z=3

has infinitely many solutions, then k is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118296 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
@des @l Al #e)M TOBCLIO)ETB RS,

kx+y+2z=1
3x—y—2z=2
2x—2y—4z=3
@ dldlmemew @remdho HEMORUD onmR®IM, k agma _ @oem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText .
collegedunia:

Possible Answers : g



5 to 5.001

Question Number : 84 Question Id : 70819118297 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of numbers, lying between 100 and 1000 that can be formed with the digits
1,2,3,4,5,if the repetition of digits is not allowed and numbers are divisible by either 3 or 5,
-

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118297 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

EoansR0d epdmlenoem®m)o, 3, 5 agmiludid apemslale alal andkenocmmo
100 myo 1000 myo ensfl@d peamimo® 1,2, 3, 4, 5, ag)m| @oH9MER Halewouila)

ik

0ol @lH000™ MoalHEIOS AVEMH agfo  @BEM.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118298 Question Type : SA

Correct Marks : 4 Wrong Marks : 0 .
collegedunia:



Let Aj, A, A, ..... be squares such that for each n=1, the length of the side of A equals the
Iongf_h of dmg_mml of A 4. If the length of A, is 12 cm, then the smallest value of  for
which area of A is quq than one, i8

Response Type : Numeric
Evaluation Required For SA : Yes
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The number of points, at which the function f(x)=|2v+1|-3x +2/ +[x*+x -2, x e R is
not differentiable, is
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Let f(x) be a polynomial of degree 6 in x, in which the coefficient of P is unity and it has

5 ‘)
extrema at x= -1 and x=1 If lim fi =1, then5f(2) isequal to ____
—0 yx
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The graphs of sine and cosine functions, intersect each other at a number of points and
between two consecutive points of intersection, the two graphs enclose the same area A.
Then A* is equal to
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The locus of the point of intersection of the lines (/3 ) kx A ky 443 =0 and

ﬁ xX—y 4[@ ) k =0 is a conic, whose eccentricity is __
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